aining blank pages.

ompulsorily draw diagonal cross lines on the rem

Important Note : 1. On completing your answers, ¢

50, will be treated as malpractice.

appeal to evaluator and /or equations written eg, 42+8

2. Any revealing of identification,

USN

satisfies the equation %X =

X

Y(O) =1 ‘W* (05 Marks)

y

3 e ~:
of fourth order, %ﬁd"*y(o 1) for the equation :_y=__y+x 3
X y+Xx
P (05 Marks)

F
ésogycct to four decimal places given Y _yy
dx 2

H156, y(1.2) = 2.4649, y(1.3)=2.7514,
(06 Marks)

Aangy &Y OR
Use Taylor’s series method to ﬁnd"y(4 1) given that 2«+ y)y =landy(4)=4. (05Marks)
Find y at x = 0. 8 glven Y =X - y* and yg& 0, y(0.2) = 00%, y(0.4) = 0.0795,
ay\s — Bashforth me%g Apply the corr% formula. (05 Marks)

0.1 given y i 3xX +— with y(0) = 1 taking
' & %{{;@W
-

gy

h=0.1. (06 Marks)

% % ,Module-Z 2 ¢
Obtain tl}e solutnon of the %Lq ition 2y" = 43,5.' Y with initial conditions y(1) = 2,
y(l. lw)a—*‘@ 2156, y(1.2) = 24649, y(1.3) = 29514 and y'(1) = 2, y'(1.1) = 23178,

,,,,,,,,

-y'(1 23 2.6725, y'(1.3) % X &%57 by computmgyy(l 4) applymg Milne’s method. (05 Marks)

\ _,,Tf o and f3 are two dlstqglcﬁoots of Jn(x) ;ﬂ gﬁnen prove that ij (ox)J, (Bx)dx = 0 if o P.

(05 Marks)

(06 Marks)

Given y"—xy'—y=0*with the initial conditions y(0) = 1, y'(0) = 0. Compute y(0.2) and

y'(0. 2) by taking h = 0.2 ésmg Runge - Kutta method of fourth order. (05 Marks)
If X +2x° —x + l =4Po(x) + bPi(x) + cPa(x) + dP3(x) then, find the valuesofa,b,c,d.
(05 Marks)
Derive Rodrlgue’s >formu la
P (xz 2,11 : dd m [(x —1)“] (06 Marks)
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Module-3

5 a. State and prove Cauchy-Reimann equation in polar M. (05 Marks)
. Discuss the transformation w = z° . (05 Marks)
¢. Find the bilinear transformation which maps the ﬁ%ﬂns z= ,—1 into w=2,1i,-2.
(06 Marks)
6 a. Find the analytic function whose r
4 4
x_2y—22x (05 Marks)
X“+y &
b. State and prove Cauchy Inte@g&i”formula (05 Marks)
2z :
c. Evaluate I where ¢ | z | = 3 using Cauchy’s Residue
theorem. :
(06 Marks)
7 a. The /pf‘gcﬂ;ba%‘ ility function of a var’&
g X 0 | % 2 &
(x) 0 k | 2k 2k
(i) Findk (i) Evaludte p(x<6), p(x >6 (05 Marks)
b. Obtain mean and standa;;gib eviation of Bmom;ﬁl istrlbutnon (05 Marks)

¢. The joint distribution of two discrete vari
y are integers suchthat 0<x<2; 0%

ET%? % and y is {(x, y) = (2x +y) where x and

(06 Marks)

Wy,

8 a The rﬁ“%%cs of 1000 stu
70 and standard deviati Gt%
(1) less than 65 (ii)

in an examlnatlo@ follows a normal distribution with mean
P Fmd the numbér.of students whose marks will be
I&Qx‘gthan 75 (il ween 65 and 75 [Given ¢(1) = 0.3413]

o,

&%@ﬁ 3 (05 Marks)
b. f the probability bad reaction, frofn a certain injection is 0.001, determine the chance
that out of 2000 individuals, mo an two will get a bad reaction. (05 Marks)

c. The joint dlsﬁ%utlon of the radom variables X and Y are given. Find the corresponding

marginal ' mén ution. Also compute the covariance and the correlation of the random
variables X ‘and Y.

(06 Marks)

X\Y |1 3 9
2 1/8 | 1/24 | 1/12
4 1/4 | 1/4 0
6 1/8 | 1/24 | 1/12
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Module-5
Explain the terms: (i) Null hypothesis (ii) type-I an ype II errors (iii) Significance level
% ® (05 Marks)
In 324 throws of a six faced ‘die’, an odd nu%ib urned up 181 times. Is it reasonable to
think that ‘die’ is an unbiased one’> (05 Marks)

Three boys A, B, C are throwing ball to e !
always throws the ball to C. C is just as, llkcIy to throw the ball t0.. as to A. If C was the
ﬂrst person to throw the ball find th prob’ébllltles that after three throws (i) A has the ball
; 4 (06 Marks)

(05 Marks)

;”’”pany has mean wage of Rs. 50 per day and
tlon of Rs. 15. Another sample of 1500 workers from another company has
mean wage%é;Rs 45 per day and hstandard deviation of Rs 20. Does the mean rate of wages
varles between the two companles {4 (05 Marks)

(06 Marks)




